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z O fh A= RRAFL—F, Efe—%1 FHETEZ7TFOHRALT D, Hifid, LRERGEFHT 5,
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BAEWR —ANANNANNNAN OO—0OOO minln
HAE i EyNb) g s
MG —— B, AR AE, OfiR., O T, LI
3 e A HL R= (1 —%GFEH) (B - 1)
[ AIEH| AfHMmEE BHEE  (mHH| SERZE | Rl | BEsiE (BEeENBECEAR
i G| 515 HE =R JiyEES iR =R (B) 35| (D) ECl mEE F) |E A F ¥
(A) (A) XR © 1B+ (©) E) [W-O)XEN 6 |oxoxwrs
== At 50 i | 3,000,000 13 [ 400, 000 400, 000 | 15 26, 667 8 186, 667 100 | 7,467
R LR e FRE AV =] 6 m 342, 857 13 45,714 45,714 | 24 1, 905 12 22,857 100 914
72 L ERAES AR 120.00 a | 5, 082, 000 20 |1,016,400 | 1,016,400 | 14 72, 600 7 508, 200 100 | 20, 328
~NT % 25ps 1 & 1,435,320 13 191, 376 191,376 | 7 27, 339 4 82,018 20 656
o—# 1) 160cm 1 &5 237, 600 13 31, 680 31,680 | 7 4, 526 4 13, 577 20 109
o —x 1) [ 3P 0.14 & 61, 446 20 12, 289 12,280 | 7 1, 756 4 5, 267 20 49
AT =N A7 V=t 10007 0.14 & 997, 920 20 199, 584 199,584 | 7 28,512 4 85, 536 20 684
FEHET — 13ps 0.14 & 138, 180 20 27, 636 27, 636 7 3, 948 4 11, 844 100 474
&) J 5ps 500kg 1 B 543, 240 20 108, 648 108,648 | 7 15, 521 4 46, 563 100 1, 863
K77 AWD500k g 1 &1 1,050,000 13 140, 000 140,000 | 4 35, 000 2 70, 000 100 2, 800
7o UK KR 20 a 471,700 | 100 471, 700 471,700 | 26 18, 142 13 235, 854 100 | 9,434
£t 13, 360, 263 2,645,027 | 2,645,027 235,915 1, 268, 382 44, 770
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(10a247=0 : 9 - B
e | FHIT2EME | HHE | Hm LB NN & (IR R 9 iR
AN 40 1,680 |fEHE 64, 680
R, HERLE e 10, 187
1A |G R 5 =2 Sy 12, 410
A RHTEE EAZREE 14, 312
it 101, 589 101, 589 63
A
R, HERLE e 3, 731
2 R (AR =2 Sy 12, 462
A RHTEE EAZREE 47,821
REILA 0
it 64, 014 165, 603 75
A
S BB, HEARSE EsE 19, 794
3 A | A % =2 Sy 23, 001
A W& AR B 50, 252
REILA 22, 800
it 70,247 | 235, 850 84




5 Hlrik%

10a%729)

1E ¥ 4 th il HrERR=C - ER 10a Y720 W& R F TEAS AR
2L KR 7 Hh 3, 000kg | TFZHH ~FBAF £} 20a
HH BORE L % E ¥ X %
10a47- 0 {EERFH Ok
I &M 4 i & T4 TEZERE B e O 51 FEMRR | L | 255 {8 (EE G 8
(== 1 /f~ /%) AR VAB | R [ | w10a)
LT 12/ k~3/F [F5I HEE 2042 ER T O 3 R EHL B HERL, 1.0 1 77.2 (1)) 1.0
FHo OB & X Br7v7 0.5 1
BE L & A 0.27T 11
5 E I 0.27T
VAN YA lkg
i fE 9/ E~6/LF &L 30kg OF-fM=EHE 15.3kg 6.4
AR S 160kg OF-[H s & 23. 2kg
OfFERIMEE 8. 3ke
+ 3 W B O|1o/fi~11/F |#E AR 60kg T OHE 2.0 1 19.4 (1)) 1.0
gL 100kg TRHHn -4 4.0 1
LB 1000kg Br7y7 0.5 1
HAEEH [4/E~10/F [T 500m1 EHET OFHET TOENDY 5.0 1 6.0 17V 5.0
BEERE | OFREA| OFKHA,
fii S 5/ b~5/%  [HERITE A 0.57T NV O7 At ETFfEET 5, 40. 7
B ) 6/F~6/T |IEO&FEbERE 10, 00048 [ A 63. 6
Ny h—A 2 {#
oor w4/ bk~8/L |FESIOH RESIS ANT) 8.9
1933 23 4~11 7 —2 U KFA 250g AL =} AT V= 2.8 2 6.4 |#&Jh 56.0
7 7 a— " KFA 500g
7TV =T 4 CKFIA 625g
VRIZaVINE "t w8 vs 500g
ToELTaT I 233ml
% T KAl 1667g
U Z K FA40 1000g
Ao V—=vrruar T 125ml
ava~<A MEAI 333ml
HLrarzarT )L 100m1
A 27 FERL KT 250g
AbhmbE—FRKI7A4 7077/ |167Tml
AT T A RAKFH 333g
B — XX DF 167g
BAT ) KFFH 417g
==/ = iy ¥ 250m1
FIoTarT I 350m1
k7 FF 2K FaFl 438g
kv 7Y MAKFAF 333g
N w2 x7aT7 7L 800m1
+ U 7WDG 250g
IN—RANF AL 3500m1
INFNFTa T T )v 250m1
AR =l Ay Y 1333ml
B 7 a7 7 1500m1
by T MR—Z Mikg) kg
IHOVRTYIIyHRO—FK 500ml
ETRHUEFIRbyR—IL 500ml
JNEF 228. 6
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1024 7= V) {EZEEF [ S
(=210 i &M 4 1 A VEZERA, VEZERSEE L OV 14 BRI | FH | ZESSME) HE &
VEE4 /8~ /4D JrRER AE | R R V2 /10a)
Y i s 9H k~9A4 TR E OB~ N, 6.4 1 35.0 17V 6.4
L2V 4,8 1
BYY 27.9
x O Sl X NTy) 9.6 1 19.6 (1720 21.1
& i 283. 2




6 FEEE (10a4720)

X5y FH A A M
LHEMHEES 1, 107, 000 ApERO 3,000 kg HARE - 369 M kg
FRUN A% T EEW AR 0 AR Hiffh
FEEWit AR 0 AR Hiffh
RIFEY AR @ 0
() 1, 107, 000
(I ¢ 0
e Bk % 33,464 |EHEMEITEMAERDOLEY
ERERAE | MK & 68, 046 4
oM ORE 73, 282 U
4 0 pabet 5 17,777
rOH & 16, 223 [HMEHRAZE X 4 %
W EERE 7,311 | - S AHEMEE X 1 %
A 8, 888
e H ' 9, 090
PE IBATE A E G 117,958 |BlIRD LBV
T B A 5,000
XL HR® 0
/Nt (B) 357, 039
o e — i [T E 11 2 99, 000
gl e 7wk # 240, 456
7 AP A A 2,266 |RHNKERG:, HRBUER, [EEE R
HHHHE R 4,165 | HlEGoR, ERH
ZHFE® 1,491 |[fENEARFHE2 %
2N () 347, 378
R S ¢ (D) 704, 417 %) D) = B) + (0
FIR T8 AR 362,960 |f 1€ 97 8 Wy B 2731 EPEEHELITEIRFRH 6.1 1,300 9,/ MR§fH]
SCHAFI - - R AEPER (B) | 1,067,377 |EFEWHAL S 72 Y 356 [, 1kg E(E) = D) +@-@
HOBEA |[MEEARNTO 18, 959 E) ©@= (E)—®—0) /2 X0.04
Ml (F) | EEARF 22,385 |FIF%4 %
SIEIEE: (' AV () 19, 200
PRNAPER (H) 1,127,921 |AEFEMHANL 2721 376 [, 1kg E M o= EB) + @ + ()
At 5 (1) 402, 583 [IFfE1 %721 1,442 M #) (D) = @) - (D)
OG- (J) 36 m () = 1) + (A) X100
JrEAR R (K) -20, 921 E) K =@- (H)
SN 5 B (L) 342,039 |HfE4 720 1,225 H # L =0 - @ - ©
Jre R E A (M) 39, 623 & M = (1) -®
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H 1 H 2 A 3 A 4 H 5A4 6 A 7H 8 A 9 A 10 H 11H4 121

124 + H T i H T E H T i H T E H T s H T E H T i A T E H T E H T = H T i H T 7
Bk - HAE 6.2 80| 80| 80| 80| 80| 80| 35| 3.5 8.0 8.0 7.
it A 0.4 | 0.4 0.4 0.4 0.4 | 0.4 2.0 2.0 6.
THEHR 3.0 3.5 3.5 3.5 3.5 2.4 19.
A 1.0 1.0 1.0 1.0 1.0 1.0 6.
N L4283 0.
SEEES 11.0 29.7 40.
IR T 35.3 | 28.3 63.
HBTiHE B 1.6 | 1.3 1.5 1.5 1.5 1.5 8.
il%8 0.4 0.4 0.4 0.4 04| 04| 04| 0.4 0.4 0.4 0.4| 04| 0.4 04| 0.4 0.4 6.
I 10.0 | 25.0 35.
Z DOt E B 0.2 0.2 0.2 02| 02| 02| 02| 02| 1.7 02| 02| 07| 02| 02| 07| 02| 02| 07| 03| 02| 22| 03] 1.2 07| 02| 02| 07| 07| 1.3| 02| 0.2 02| 0.2 2.7| 0.3 1.2 19.

7t 6.4 | 82| 82| 82| 82| 86| 86| 3.7| 56| 13.2| 2.3|31.8| 06| 0.6 1.1| 3.5|355|30.9| 1.7 51| 26| 3.2 1.6|11.1]|25.2| 06| 2.5 07| 48| 57| 47| 57| 2.6 2.7| 83| 9.2| 283.
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